
9225 Stellar Ct. Unit C, Corona, CA 92883  (951)277-4949                  Made in China                                   Rev. 12/09    

1 Tire Carrier w/Latch Mechanism Installed
1 Post Bar
1 Nylon Washer
1 Tire Mount
1 Circle Clip
3 3/8”-24x1” Hex Head Bolts
2 3/8”-24x1-1/4” Hex Head Bolts
12 3/8” Flat Washers
5 3/8”-24 Nylock Nuts
1 3/8”-16x2.5” Hex Head Bolt
1 3/8“-16 Nylock Nut
1 Rubber Bushing / Spacer
1 #10 x 1” Phillips Pan Head Sheet Metal Screw

87 - 06 Wrangler

1 Rear Bumper w/ Splindle
4 Backing Plates
2 TJ Reinforcement Brackets (L&R)
2 YJ Reinforcement Brackets (L&R)
2 M12 x 35mm hex Head Bolts
8 3/8”-16 x 1-1/4” Hex Head Bolts
8 3/8” Flat Washers
8 3/8” Lock Washers
6 1/2”-20 x 1-1/4” Head Head Bolts
8 1/2” Flat Washers
4 1/2” Lock Washers
2 1/2” Fender Washers
2 1/2” Nylock Nut w/ Fender Washer
2 7/16-14 x 1-1/4” Hex Head bolts
2 7/16” Flat Washers
2 7/16” Lock Washers

LEADING MANUFACTURER OF TUBULAR PRODUCTS

IMPORTANT INFORMATION
- Holes may need to be drilled through the side of the frame
- Will accomodate up to a 35” Spare tire
- Factory bumper and tire carrier will need to be removed to install the carrier
- The 3rd brake light will need to be relocated. Location may vary due to tire size
- This bumper is NOT RATED FOR TOWING



9225 Stellar Ct. Unit C, Corona, CA 92883  (951)277-4949                  Made in China                                   Rev. 12/09   



9225 Stellar Ct. Unit C, Corona, CA 92883  (951)277-4949                  Made in China                                   Rev. 12/09   



9225 Stellar Ct. Unit C, Corona, CA 92883  (951)277-4949                  Made in China                                   Rev. 12/09   

12. Locate Post, (1) 3/8”-16 x 2.5” Hex Head Bolt, (2) 3/8” Flat Washers, and (1) 3/8” Nylock Nut. Insert Post into Tire Carrier 
       and secure it with hardware listed in this step (Figure 9). Tighten hardware at this time.

(1) 3/8”-16 x 2.5” Hex Head Bolt
(2) 3/8” Flat Washers
(1) 3/8” Nylock Nut

Figure 9



9225 Stellar Ct. Unit C, Corona, CA 92883  (951)277-4949                  Made in China                                   Rev. 12/09   

951-277-4949

 Limited 12 Month Warranty

12 Months


	INST76651-1.jpg
	INST76651-2.jpg
	INST76651-3.jpg
	INST76651-4.jpg
	INST76651-5.jpg

